L’eau dans I'air
Donc, O =r

ABCDEFGHIJ KLMNOPQRSTUVWXYZ
defghijklmnopgrstuvwxyz abec

Indienne

Donc, le chiffre 1 =n

ABCDEFGHI J KL MNOPQRSTUVWX Y Z
141516171819202122232425261 23456789 10111213

Ciseaux
Donc,6=0

ABCDEFGHI JKLMNOPQRS TUVWXY Z
18192021222324252612 34 56 789 1011121314151617

Affaissé
Donc, A=c

ABCDEFGHIJKLMNOPQRSTUVWXYZ
cdefghijklmnopqgrstuvwxy zabhb

Escalier
Donc, S=k

ABCDEFGHIJKLMNOPQRSTUVWXYZ
stuvwxyzabcde fghijklmnopaqgr

Eufs pourris
Donc, E =i

ABCDEFGHI JKLMNOPQRSTUVWXYZ
efghijkl mnopgrstuvwxyzabcd

Déesse
Donc, D =s

ABCDEFGHIJKLMNOPQRSTUVWXYZ
pgrstuvwxyzabcdefghij kIl mno



